
1

1. Place Running Board on brackets. Each 
running board is marked Driver and Passenger. 

2. Slide M8 threaded studs in track system on 
the bottom of the Running Board to line up to 
mounting holes in each bracket. 

3. Fasten Running Board on each bracket by 
using two (2) M8 Flat Washers, two (2) M8 Lock 
Washers and two (2) M8 Hex Head Nuts per 
bracket. 

When all hardware is in place, everything must 
be tightened. Tighten until the split lock washer 
is flat between the M8 Flat Washer and M8 Hex 
Head Nut. 

Repeat these steps for driver side installation. 

1

Passenger Side

RUNNING
BOARD

6” OEM RUNNING BOARD
Rev 1

M8 HEX
HEAD NUT

M8 LOCK
WASHER

M8 FLAT
WASHER

3

THREADED
STUD

RUNNING
BOARD

Ethan Ho


